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 ) Qin = 13106 m3s−1

sin = 15.658 g  kg
Qout = −25058 m3s−1

sout = 7.372 g  kg

(a)

N = 28
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q(S) / 10 m s (g3 3 −1  kg   )−1

(b)

Qin = 13189 m3s−1

sin = 15.616 g  kg
Qout = −25142 m3s−1

sout = 7.377 g  kg

N = 212
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Sign method

(c)

Qin = 13592 m3s−1

sin = 15.425 g  kg
Qout = −25545 m3s−1

sout = 7.406 g  kg

N = 216

q(S)
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 ) Qin = 13064 m3s−1

sin = 15.679 g  kg
Qout = −25016 m3s−1

sout = 7.369 g  kg

(d)
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Q(S) / 103m3s−1

(e)

Qin = 13064 m3s−1

sin = 15.679 g  kg
Qout = −25016 m3s−1

sout = 7.369 g  kg
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Dividing salinity
method

(f)

Qin = 13065 m3s−1

sin = 15.679 g  kg
Qout = −25017 m3s−1

sout = 7.369 g  kg
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